
1984-2001 JEEP CHEROKEE 
FRONT BUMPER HOOP 

P/N: 10-05084-4 

INSTALLATION INSTRUCTIONS 

PART LIST 

ITEM  DESCRIPTION   QTY.  

20-05084-4 Front Hoop, Winch Bumper 1 

20-72241 Hardware Pack, Front Hoop 

13-20053-Z 3/8-16 x 1” Bolt 6 

13-10022-Z 3/8-16 Nyloc Nut 6 

13-30012-Z 3/8 Flat Washer 12 

NOTE: 

 This Hoop is designed as an accessory to the RCD Jeep Cherokee Winch Bumper 

(20-05084-1). 

https://www.carid.com/rcd-suspension/


Front Bumper Hoop Installation Instructions 

1. Place Front Bumper Hoop (20-05084-4) on Front Bumper as shown.

2. Mark and drill six 13/32” holes.

3. Install 3/8” Bolts (13-20053-Z), Washers  (13-30012-Z) and Nuts (13-10022-Z). Torque
bolts to 35ft. Lbs.

Cherokee Winch Bumper 

3/8” Nyloc Nut 
13-10022-Z 

3/8”-16 x 1” Bolt 
13-20053-Z 

3/8” Flat Washer 
13-30012-Z 

Front Bumper Hoop 
20-05084-4 

Discover other off-road bumpers on our website.

https://www.carid.com/off-road-bumpers.html

